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. Ifa, B, yare the roots of the cubic equation(l44x3 —~396x%2+272x-35 )=0,finda +B + vy
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. Ifa, B, yare the roots of the cubic equation(280x3 —907x%2 +946x—315 )=0,findaB + By + ya
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. Ifa, B, yare the roots of the cubic equation(147x3—112X2+27x—2)=0 ,find aBy
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. If one of the roots of the cubic equation(84)r3—209x2 +162x—40)=0is z ,find the remaining real roots
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. If one of the roots of the cubic equation(x3+4x2 —36x—144)=0is(—6),find the remaining real roots

(i) ((=9).(=6)) (i) ((=4),6) (i) ((=5),(=3)) (iv) ((=4),(=1)) (v) ((=7),(=5))

3 9 7
. Ifa= 4 B= 3 Y= 4 are the roots of the cubic equation a)(3 + bx2 + ¢cx+ d= 0,then find

(i) >3 (i) ( Ea) (iii) 2 (iv) 189 (v) ( E))
8 128 8 128 8
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. If01=-4 ,B=-8 ,y=-5 are the roots of the cubic equation ax™ + bx™ + cx+ d= 0,then find -
a
(i) ( 21) (ii) 21 (iii) ( 129) (iv) >21 (v) ( 521)
i) (—— i) — (i) (=—— iv) —— (V) (—=—=
20 20 40 160 160
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. If01=z1 ,B=§ ,y=-2- are the roots of the cubic equation ax™ + bx™ + cx+ d= 0,then find -
a
(i) ( 19) (ii) L (i) ( > ) (iv) > (v) 1
i) (— ii i) (— iv v) -
32 32 64 64 8

. If(x—a) is a factor of x3 - a)(2 — 9x — 18, find the value of a

(i) (-1) (i) (-2) (i) (-4) (iv) 1 (v) (-3)
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Ifa, B, yare the roots of the cubic equation(24x3—26x2 +9x—-1)=0,finda+ B + vy
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Ifa, B, yare the roots of the cubic equation(448x3 ~1056x2 +821x—-210)=0,findaB + By + ya
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Ifa, B, yare the roots of the cubic equation(72x3 —262x2+221x—40)=0,findaBy

(i) (—'131) (i) Bl (iii) (—'221) (iv) (—5) (v) >
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If one of the roots of the cubic equation(140)(3—143)(2 +43x—-4)=0is 2 ,find the remaining real roots
(i) (« 1)2)(")(1 4)("')(4 1)(')(1 4)()(3 6)
i -—), i , iii , iv , Y% ,
47 6 9 75 25 4 7

If one of the roots of the cubic equation(x3 +2x%2-36x—72 )=0is(—=6),find the remaining real roots

(i) ((=4),9) (i) (6,(=2)) (i) ((=7),5) (iv) ((=8),3) (v) ((=5),7)

1 6 5 b
Ifa= 5 B= 3 VY = 3 are the roots of the cubic equation ax3 + bx2 + cx+ d=0,then find -
a
(i) ( 15) (i) ( 111) (iii) L (iv) 143 (v) .
| - Il - 1 v \
56 56 56 112 56
4 1 1 . . 3 2 . c
Ifa= 3 B= 5 Y= 8 are the roots of the cubic equation ax™ + bx™ + cx+ d= 0,then find -
a
(i) ( 3) (i) ( 269) (iii) 209 (iv) ! (v) >
8 168 168 42 8
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Ifa= 5 B= 9 Y = 8 are the roots of the cubic equation ax3 + bx2 + cx+ d=0,then find -
a

(i) > (i) (= - ) (i) (= > ) (iv) . (v) (—317)
72 180 72 360

If(x—a) is a factor of x3 — ax2 + 6x + 30, find the value of a

(i) (-5) (i) (-6) (iii) (-7) (iv) (-4) (v) (-2)
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